3700 BAY ROAD, SAGINAW, MI 48603 P. 989.790.7240 F. 989.790.1191 www.pinnacledesign.biz

BILL TO: CHRISTAL JANES

GENESEE COUNTY - WARRENTS

DIVISION

SHIP TO:

QUOTATION PREPARED BY: LYNN CRAPO

> 10/23/2024 Page 1 of 6

TERMS: NET 10 DAYS PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN 3700 BAY RD SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	QTY	SELL	EXT SELL
1	HON	HCTL242	24D Cantilever One Pair	16	\$ 34.35	\$ 549.60
			P1 Paint Opts			
			Loft	_	4.0.50	4 07 00
2	HON	HEC42PTN	42.5H "T" Connector Post	2	\$ 43.69	\$ 87.38
			P1 Paint Opts			
3	HON	HEC42PXN	Loft 42.5H "X" Connector Post	1	\$ 41.58	\$ 41.58
3	11014	HECTZFAN		_	Ψ ,	¥ 12.55
			P1 Paint Opts Loft			
4	HON	HEC65PTN	65H "T" Connector Post	4	\$ 57.24	\$ 228.96
			P1 Paint Opts			
			Loft			
5	HON	HEC65PXN	65H "X" Connector Post	2	\$ 54.83	\$ 109.66
			P1 Paint Opts			
			Loft	2	¢ 0.64	ć 10.30
6	HON	HECSS	Extended Straight Connector Strap "S"	2	\$ 9.64	\$ 19.28
7	HON	HECST	"T" Connector Strap	6	\$ 9.64	\$ 57.84
8	HON	HECSX	"X" Connector Strap	1	\$ 11.15	\$ 11.15
9	HON	HECVH22P	Variable Height Connector Kit 22.5H	4	\$ 27.72	\$ 110.88
			P1 Paint Opts		•	
			Loft			
10	HON	HEFEC42P	Panel Finished End Covers 42.5H	6	\$ 22.60	\$ 135.60
			P1 Paint Opts			
			Loft	8	\$ 27.12	\$ 216.96
11	HON	HEFEC65P	Panel Finished End Covers 65H	ð	⇒ ∠1.1∠	\$ £10.30

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY:

3700 BAY ROAD, SAGINAW, MI 48603 P. 989.790.7240 F. 989.790.1191

QUOTATION PREPARED BY: LYNN CRAPO

> 10/23/2024 Page 2 of 6

www.pinnacledesign.biz

BILL TO: CHRISTAL JANES

GENESEE COUNTY - WARRENTS

DIVISION

SHIP TO:

TERMS: NET 10 DAYS PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN 3700 BAY RD SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	QTY	SELL	EXT SELL
12	HON	HETB3618	P1 Paint Opts Loft Accelerate 36W x 18H Tackboard	8	\$ 70.21	\$ 561.68
			Grd A Fab Appoint Dark Pewter		.	4 500 05
13	HON	HETB4818	Accelerate 48W x 18H Tackboard Grd A Fab Appoint Dark Pewter	8	\$ 86.17	\$ 689.36
14	HON	HETC24	Panel Top Cap 24"W P1 Paint Opts	14	\$ 16.27	\$ 227.78
15	HON	HETC78	Loft Panel Top Cap 78"W	4.	\$ 43.69	\$ 174.76
16	HON	HETC84	P1 Paint Opts Loft Panel Top Cap 84"W	4	\$ 48.21	\$ 192.84
17	HON	HETP4224FP	P1 Paint Opts Loft Tackable Panel w/o TC 42.5H x 24W	6	\$ 124.13	\$ 744.78
17	TION	11211122111	Grd A Fabric Appoint Dark Pewter P1 Paint Opts	-	• ===-	•
18	HON	НЕТР4236FP	Loft Tackable Panel w/o TC 42.5H x 36W	4	\$ 137.69	\$ 550.76

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY: _

Pinnacle Design 3700 BAY ROAD, SAGINAW, MI 48603 P. 989.790.7240 F. 989.790.1191 www.pinnacledesign.biz

PREPARED BY: LYNN CRAPO 10/23/2024

Page 3 of 6

QUOTATION

BILL TO: CHRISTAL JANES

GENESEE COUNTY - WARRENTS

DIVISION

SHIP TO:

TERMS: NET 10 DAYS PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN 3700 BAY RD SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	QTY	SELL	EXT SELL
			Grd A Fabric Appoint Dark Pewter P1 Paint Opts			
19	HON	HETP4242FP	Loft Tackable Panel w/o TC 42.5H x 42W	4	\$ 149.74	\$ 598.96
		UETDG E24ED	Grd A Fabric Appoint Dark Pewter P1 Paint Opts Loft	0	£ 140 44	ć 1 105 F2
20	HON	HETP6524FP	Tackable Panel w/o TC 65H x 24W Grd A Fabric Appoint Dark Pewter P1 Paint Opts Loft	8	\$ 149.44	\$ 1,195.52
21	HON	HETP6536FP	Tackable Panel w/o TC 65H x 36W Grd A Fabric Appoint Dark Pewter P1 Paint Opts Loft	4	\$ 169.03	\$ 676.12
22	HON	HETP6548FP	Tackable Panel w/o TC 65H x 48W Grd A Fabric Appoint Dark Pewter	4	\$ 191.62	\$ 766.48

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specific	ation. D	ue to
individual computer, settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true represen	tation, o	rder and
view actual sample	P	j

3700 BAY ROAD, SAGINAW, MI 48603 P. 989.790.7240 F. 989.790.1191 www.pinnacledesign.biz

SHIP TO:

BILL TO: CHRISTAL JANES

GENESEE COUNTY - WARRENTS

DIVISION

QUOTATION PREPARED BY:

LYNN CRAPO 10/23/2024

Page 4 of 6

TERMS: NET 10 DAYS PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN 3700 BAY RD SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	QTY	SELL	EXT SELL
			P1 Paint Opts Loft			
23	HON	HH871136	Electrical Pass-Thru Cable 36W 3-1 & 2-2 Systems	8	\$ 53.63	\$ 429.04
24	HON	HH871142	Electrical Pass-Thru Cable 42W 3-1 & 2-2 Systems	4	\$ 56.35	\$ 225.40
25	HON	HH871148	Electrical Pass-Thru Cable 48W 3-1 & 2-2 Systems	1	\$ 56.35	\$ 56.35
26	HON	HH871501	Duplex Receptacle Circuit 1 3-1 & 2-2 Systems	8	\$ 18.08	\$ 144.64
27	HON	HH871502	Loft Duplex Receptacle Circuit 2 3-1 & 2-2 Systems	8	\$ 18.08	\$ 144.64
28	HON	HH871503	Loft Duplex Receptacle Circuit 3 3-1 System Only	8	\$ 18.08	\$ 144.64
29	HON	HH879072	Loft Base In-Feed Cable Base 3-1 & 2-2 Systems	1	\$ 94.31	\$ 94.31
30	HON	HSCKTPS	Straight Connector Kit	8	\$ 9.04	\$ 72.32
31	HON	HVFB23R	No Option Box/Box/File 28H x 22 7/8D x 15W	8	\$ 228.68	\$ 1,829.44
32	HON	HVFF23R	Lock P1 Paint Opts Loft File/File 28H x 22 7/8D x15W	8	\$ 226.56	\$ 1,812.48
			Lock P1 Paint Opts Loft			
33	HON	HWC3624P	Systems Corner Worksurface 36Wx24D Edgeband Curved Grd L1 Standard Laminates Sterling Ash	8	\$ 196.44	\$ 1,571.52

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY:

DATE:

QUOTATION PREPARED BY: LYNN CRAPO

10/23/2024 Page 5 of 6

3700 BAY ROAD, SAGINAW, MI 48603 P. 989.790.7240 F. 989.790.1191 www.pinnacledesign.biz

CHRISTAL JANES BILL TO:

SHIP TO:

GENESEE COUNTY - WARRENTS

DIVISION

TERMS: NET 10 DAYS PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN 3700 BAY RD SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	QTY	SELL	EXT SELL
34	HON	HWR2442P	Sterling Ash Black Systems Rectangular Worksurface Edgeband 24D x 42W	8	\$ 152.15	\$ 1,217.20
			Grd L1 Standard Laminates Sterling Ash Sterling Ash Black			
35	HON	HWR2448P	Systems Rectangular Worksurface Edgeband 24D x 48W Grd L1 Standard Laminates	8	\$ 161.49	\$ 1,291.92
36	HON	HWSB2	Sterling Ash Sterling Ash Black Worksurface Bracket Kit	12	\$ 19.28	\$ 231.36
	HON	HRVOH36FM	P1 Paint Opts Loft Abound Overhead-Metal Flipper Door 36"	8	\$ 236.21	\$ 1,889.68
37	HON	HRVOH301 PI	P1 Paint Opts Loft Lock	Ü	¥ 233,22	¥ 2,000.02
38	HON	HRVSH48	Abound Open Shelf 48" P1 Paint Opts	7	\$ 119.91	\$ 839.37
39	GRO	RG-C702	Loft Trace Lat File,3 Drw,36Wx18-1/4Dx39-7/8H HW-Silver Metallic	6	\$ 580.68	\$ 3,484.08
			No Counterweight Installed No Selection_Upgrade Satin Nickel Pull Square Front			

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

DATE: APPROVED BY:

3700 BAY ROAD, SAGINAW, MI 48603 P. 989.790.7240 F. 989.790.1191 www.pinnacledesign.biz

PREPARED BY: LYNN CRAPO 10/23/2024 Page 6 of 6

QUOTATION

BILL TO: CHRISTAL JANES

SHIP TO:

GENESEE COUNTY - WARRENTS

DIVISION

TERMS: NET 10 DAYS PLEASE MAKE PO TO THE FOLLOWING: PINNACLE DESIGN 3700 BAY RD SAGINAW, MI 48603

LINE	MFG	PART#	DESCRIPTION	QTY	SELL	EXT SELL
			UM Standard Series Lock - Flat Black			
40	KNE	CE10836	Calibre Front Lateral File Worksurface Top 108Wx36D, Dividends style Core Laminates	1	\$ 542.86	\$ 542.86
			Skipped Option			
41	HON	HIWMBT	Ign 2.0 Big & Tall 4-way Mesh	2	\$ 538.48	\$ 1,076.96
			Synchro-Tilt			
			All-Adjustable Arm			
			All Surface Caster			
			4-Way Fog			
			Grade 2 Uph			
			Whisper Vinyl			
			Cerulean			
			Black Adjustable Lumbar			
			Standard Base			
			Black			
			No Headrest			

QUOTE DOES NOT INCLUDE 6% SALES TAX. QUOTE IS VALID FOR 30 DAYS.

2000

Images are provided as a preliminary color and type representation and should not be used for final product and color specification. Due to individual computer settings, size, pattern, color, texture, and rendering may vary from the actual sample. For a true representation, order and view actual sample.

APPROVED BY:

TOTAL \$ 25,046.14